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Find Megan’s greatest phone bill as a fraction of her lowest, writing your answer as a top heavy fraction in its simplest terms.
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
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Grade 4

 (Calculator)
An adult ticket for a museum is £16:00
A child ticket costs 70% of the price of an adult ticket.
Mrs Jenkins and her three children go to the museum.
Mrs Jenkins has a voucher that reduces the total entry cost by 10%
Mrs Jenkins pays with three £20 notes.
Work out how much change Mrs Jenkins will receive.
[4 marks]
                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                       
                                                                Answer £                                       

Ellen works for a company that sells cars.
Her monthly pay is 
· a salary of £1470
· 28% of the total profit the company makes from her sales 
· a £250 bonus if she sells at least 15 cars.
The table shows information about the cars she sold last year.
	Total Cost
to the company
	Total income
for the company
	Number of months when
she sold at least 15 cars

	£464 500
	£538 000
	3



Was Ellen’s total pay for the year more than £40 000?
You must show your working.
[6 marks]
                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                        
                                                                Answer £                                       
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a)   A is due west of B
Write down the bearing of A from B.						[1 mark[

_________________________________________________________________________________________________________________________________________________________________________________________________________

b)  Umar drives from A to B on the route shown.
Kaz drives fro B to C on the route shown.
Use the map to work out how much further Umar drives than Kaz.
You must show your working.							[5 marks]

_________________________________________________________________________________________________________________________________________________________________________________________________________
___________________________________________________________________
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Grade 1-2

(2017 May )

Solve         – 3 = 0

Circle your answer.
  [1 mark]


                                                                    




(2019 May )

Solve   = 8

Circle your answer								  [1 mark]



                                                                 2 



(2017 November)
Solve            
  [1 mark]
                                                                                                                                                                                      
                                 						                            __                        


Grade 3

(2017 November)

3a + b = 7     and       

Show that 9a + 3b has a greater value than 
  [2 marks]
                                                                                                                                                                                                                                                                                         



(2017 November)


Solve  							          [2 marks]
                                                                                                                                      
           

                                                                                                                                                                                                                                                                                         
			Answer: ____________________________________________


Solve  							         [2 marks]

                                                                                                                                                                                                                                                                                         
			Answer:_________________________________________________



Grade 4
(2018 November)

Solve                           						[2 marks]
                                                                                                                                                                                                                                                                                         
     __________________                                                                            


(2019 November)

Solve        							[3 marks]
                                                                                                                                                                                                                                                                                          __________________                                                                            
                                                                         
(2020 November)

Solve          								[2 marks]

                                                                                                                                                                                                                                                                                          __________________                                                                            





Linear Equations and Inequalities
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Calculator

Grade 1 - 2

(2016 Practice Paper Set 4 - Paper 3)

Solve         = 4

Circle your answer.
  [1 mark]

                                                                             



(2016 Practice Paper Set 3 - Paper 2)


Write down the integer values of  where    1  < 7
  [2 marks]

                                                                                                                                                                    
                                                                      			Answer:                                                                                 




(2016 Practice Paper Set 3 - Paper 3)


Solve         = 13

Circle your answer.
  [1 mark]

                                                                          

Grade 3 – 4

(June 2017 - Paper 2)

Solve                 
  [2 marks]
                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                      

(June 2017 – Paper 3)
How are the whole number solutions to A and B different?
 A                  Solve       3 ≤  < 18
 B                  Solve       3 <  ≤ 18
[2 marks]
                                                                                                                                                                                                                                                                                                                                                                                                                              

(November 2017- Paper 2)

Solve 
[3 marks]
                                                                                                                                                     
                                                                                                                                                                      	
 (November 2017 - Paper 3)

Circle the equation which has the solution 
  [1 mark]

                                      3                                   





(November 2017 - Paper 3)

 is greater than 5 and less than or equal to 9.
Circle the inequality that shows this.
  [1 mark]
5≤<9               5>≥9             5≤>9                 5<≤9

(November 2018 - Paper 3)

Solve   8 > 3 - 

[2 marks]
                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                
                                                                                     Answer:                                                                           
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Give your answer to the nearest whole number.
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
						Answer _________________________cm2
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image80.png
Answer: metres
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Answer




image82.png
(2018 Paper 3 Nov)

Here is a map of Cuba.
1.5 cm represents 200 km

Havana

Work out the actual distance from Havana to Holguin.
[3 marks]
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image85.png
(11 Nov 2019)

11) Simplify etetetetetete

[1 mark]

Answer





image86.png
(11 Nov 2019)

12) Multiply out 9(3u+7)

[1 mark]

Answer





image87.png
(11 Nov 2019)

13) Expand then simplify
8(3-4t) -t(2a-5)

[3 marks]

Answer





image88.png
(11 Nov 2019)

Michelle saysthat.. 6 +f+f+f+2+r+r+r+r+r =6f+2r
Describe at least one error then give the correct answer.

[2 marks]

Answer





image89.png
(19 May 2020)

Simplify fully ~ 2(3a+9)+b + % ~3b

[3 marks]

Answer





image90.png
(19 May 2020)

Factorise fully =~ 3x% +9x
[2 marks]

Answer





image91.png
(19 May 2020)

Factorise fully ~ 3x% +9x
[2 marks]

Answer





image92.png
(7 Nov 2019)

6)  Simplify fully gt"—t

[2 marks]

Answer





image93.png
(24 May 2018)

15)  Solve 4x (2x+ 1)< -20
[2 marks]

Answer





image94.png
(8 Jun 2020)

3) Expand and simplify fully 4(2c+3)—(5c—1)
[2 marks]

Answer





image95.png
(7 Nov 2019)

Simplify 8a-3a+a

Circle your answer.
[1 mark]

4a 6a 5+a 8a — 3d°




image96.png
(7 Nov 2019)

6)  Simplify fully i’ti

[2 marks]

Answer





image97.png
(7 Nov 2019)

7) Here is an identity.
a(Bx—10) = 21x+2b

Work out the values of a and b.
[3 marks]





image3.png




image98.png
(11 Nov 2019)

S and T are rectangles.
S has dimensions (x + 2) and x.
T has dimensions half x and (x + 2)

(x+2) Not drawn
[ accurately

X S

(x+2)

[3 marks]

N[
=
4





image99.png
Work out an expression for the perimeter of ST together
Give your answer in its simplest form.





image100.png
(21 May 2019)

16) Multiply out and simplify (x+5)(x—-1)
[2 marks]

Answer





image101.png
Expanding and Factorising
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image103.png




image104.png
A football team has P points.

P=3W+D
W is the number of wins
D is the number of draws

(a) A team has 6 wins and 2 draws.

How many points does the team have? [1 mark]

Answer





image105.png
Here is a number machine.

Input Output

X >|><3 >|_2|> y

(a) Work out the output when the input is 4 [1 mark]

Answer





image4.png
Non-Calculator

Grade 1-2

(19 May 2020)

1) What is the following measurement when rounded to two decimal places?
0.6852cm

Circle your answer.

0.695cm 0.70cm 0.69cm 0.680cm [1 Mark]




image106.png
(19 May 2020)

a=7andb=2

a b
— —a
Work out the value of b ! [3 marks]





image107.png
(25 May 2017)

A football team has P points.

P=3W+D
W is the number of wins
D is the number of draws

(a) A team has 6 wins and 2 draws.

How many points does the team have?

[1 mark]

Answer





image108.png
(19 May 2020)

This formula converts temperature in degrees Fahrenheit (F) to kelvin (K)
non-cal

K:%(F—32)+273

A pottery oven is heated to 2092 degrees Fahrenheit.

Work out this temperature in kelvin. [3 marks]




image109.png
(4 June 2020)

(a) Here is a number machine.

Input Output

Work out the output when the input is 16 [1 mark]

Answer





image110.png
(b) Here is a different machine.

Input Output
/ > +6 > +2 >
Work out the output when the input is -48 [1 mark]

Answer





image111.png
(c) Complete this number machine. [1 mark]

Input Output

s ]« | o b
]





image112.png
Answer





image113.png
(4 June 2020)

A company uses this formula to work out the cost, £A, of a taxi ride.
A=4+18m+b

£4 is a fixed charge

m is the number of miles travelled

£b is a charge for booking online

(a) Clare books a taxi online and travels 8 miles.
She pays £20 altogether.

How much is the charge for booking online? [3 marks]





image114.png
(b) A different company
..Has a fixed charge of £ 3

..Charges £ 1.90 per mile

..Has no charge for booking online.

Write a formula for the cost, £C, of a taxi ride with this company.

Answer

[1 mark]





image115.png
(8 Nov 2018)

Given that 50a =b work out the value of 4—b -2500a? + b2+ 50
a

[3 marks]

Answer





image5.png
2) A bar chart is drawn to show the number of people visiting the cinema one month.

Ticket type Number of people

Adults 1600
Students 3000
Children 1800

Circle the ‘Ticket type’ that has had its value rounded to one significant figure.

Adults Students Children All of them [1 Mark]
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image119.png
On a circle, which of these is the longest?

Circle your answer.
[1 mark]

chord circumference diameter radius




image120.png
On a circle, which of these is always longer than the diameter?

Circle your answer.
[1 mark]

chord arc radius circumference




image121.png
A circle has circumference C and diameter d.

C=kd

What value does the constant k represent?
[1 mark]




image122.png
This circle has centre C.
W, X and Y are points on the circle.
WY is a straight line.




image6.png
3)

Amy and Brad each have some money.
Carly has no money.

Amy gives £7 to Carly.

Brad gives £5 to Carly.

Now they all have the same amount of money.

How much money did Amy have to begin with?

[2 marks]

Answer £
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image124.png




image125.png
Tick one box for each statement.

WY is a diameter.

WX is a radius.

The shaded section is a sector.

Arc XY is part of the circumference.

True

False

[3 marks]




image126.png
The diagram shows a quarter-circle with radius 6.5 cm

Not drawn
accurately

<— 6.5¢cm —>

Work out the area of the quarter-circle.
[3 marks]




image127.png
A shaded semicircle is inside a circle as shown.

Not drawn
accurately

10cm

/

£

<—8cm—>

The radius of the circle is 10 cm
The diameter of the semicircle is 8 cm

How many times bigger is the unshaded area than the shaded area?
[4 marks]




image128.png
The circle below has centre O.

Draw a sector on the circle.




image129.png
A circle is drawn on a centimetre grid.

Draw a tangent to the circle.
[1 mark]




image130.png
Grace works out that the area of the circle is more than 9 cm?

Why must this be wrong?
[1 mark]




image131.png
Two wire shapes make an earring.
The shapes are
a circle with radius 21 mm
and

a quarter circle.

Not drawn
accurately




image132.png
(@)  Show that the radius of the quarter circle is 6 mm
[1 mark]




image7.png
4)
(23 May 2019)

Put these numbers in order from smallest to largest.

13.54289 ml to 3sf 13.44892 ml to 1dp 0.01368 L
[4 Marks]

I o N

Smallest Largest




image133.png
(b)  Work out the total length of the wire in the earring.

Give your answer in the form a7t +b  where a and b are integers.
[4 marks]




image134.png




image8.png
Grade 4
5)

(21 May 2019)
A force of 200 newtons (N) is applied to the surface of this shape

8m

Not drawn
accurately

5m

Work out the pressure.




image9.png
6)
(6 Nov 2018)

Round 1.543g to 2sf. Round 0.2449g to 2dps. Find the mid point between these
two rounded values.

I T T T I T T T |
0 1g 2g
[3 marks]

Answer





image10.png




image11.png
Jenny works for 30 hours and is paid £318
Calvin works for 28 hours and is paid £287

Jenny is paid more per hour than Calvin.

How much more?

[3 marks]

Answer pence





image12.png
Greg wants to buy a games console that costs £267.50
He already has £125
He will save £7.50 each week.

In how many weeks will he have saved enough?

[3 marks]

Answer





image13.png
Shortest distance





image14.png
Put these three distances in order of size.
1.8 kilometres 1600 metres 1 % kilometres

Start with the shortest.
[2 marks]





image15.png
Shortest distance





image16.png
Put these three distances in order of size.
1.8 kilometres 1600 metres 1 % kilometres

Start with the shortest.
[2 marks]





image17.png
Answer £





image18.png
Milly has an equal number of 20p coins and 50p coins.
The value of her 20p coins is £2.80

Work out the total value of her 20p and 50p coins.
[3 marks]





image19.png
Convert 30 m/s to miles per hour.

Use 1 mile per hour =1.61 km/h
[3 marks]





image20.png
Answer miles per hour





image21.png
To the nearest pound, Jon has £9
To the nearest 50p, Ellie has £6.50

Work out the maximum possible total amount of money.
[3 marks]
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image23.png




image24.png




image25.png




image26.png
(2 Nov 2017)

2) A packof cards has 72 cards. Some are black, the rest are white.

7 black
— ar
g are blad

Work out the number of white cards.
[2 marks]

Answer





image27.png
(2 Nov 2017)

Work out

oo
+
~Nlw

Give your answer as a mixed number.

Thursday 2 November 2017

[3 marks]

Answer





image28.png
(2 Nov 2017)

Work out

oo
+
~Nlw

Give your answer as a mixed number.

Thursday 2 November 2017

[3 marks]

Answer





image29.png
Grade 3
(2 Nov 2017)

3)  2/50f anumberis 1/3

Work out 1/4 of the number.

Answer

[3marks]




image30.png
(11Jun 2019)

11) Circle the fraction that is equal to 3 %

[1 mark]

vl
ulo
n|o




image31.png
Circle the correct statement

[1 mark]

w|=
N
w|=
NN
w|=
A
A=
w|=
N




image32.png
(6 Nov 2017)

How many minutes are there in 3 % hours?

Circle your answer.
[1 mark]

180 200 220 240




image33.png
(6 Nov 2017)

Use your calculator to work out the exact value of 5/12 x 3/7
2/9 [1 mark]

Answer





image34.png
(13 Jun 2017)

Circle the fraction greater than z + 5i
4 3

[3 mark]

S





image35.png
(12 Jun 2018)

If =1 then shade below an area on the grid X

where X =4 1/4 -21/2 [2mark]





image36.png
(6 Nov 2017)

6) A ball is thrown from a height of 15 metres.
It bounces to height #4, then to height /, as shown.




image37.png
Not drawn
accurately
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hy is two thirds of the original height.
Jack expects &, to be two thirds of 4

Work out the value of 4, that he expects.
[2 marks]

Answer metres
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Megan is paying her phone bill.

Information about the charges is shown below.

£10 per month
+

10p per text message

Calls at 2p per minute

The table below shows Megan’s usage for the last three months.

February March April

Text messages 6 10 8

Call minutes 40 35 15
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What is % as a percentage?
Circle your answer. [1 mark]
0.07% 0.7% 7% 70%
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Circle the fraction equal to 0.3%.
[1 mark]

3 3
10 100 1000 10,000
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Which statement is true?
Circle your answer.
[1 mark]

10% of 50 = 50% of 20
10% of 10 = 20% of 20
10% of 20 = 20% of 10
10% of 40 = 40% of 100
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What is 25 as a percentage of 1257
Circle your answer.

[1 mark]

10% 20% 25% 40%
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5% of a number is 43.
Work out of the number.

[2 marks]
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Work out 160% of 7800.
[2 marks]
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Collin gains 35 out 80 in AQA Foundation GCSE Paper 1 exam.

Work out his mark as a percentage.

[2 marks]

Answer: %
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£2700 is invested for 2 years at 5% per year simple interest.
Work out the total interest.
[2 marks]

Answer:
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In Functional Skill Level 1 test,
Section A has 8 marks
Section B has 24 marks
Riya scores

55% in Section A

70% in Section B.

To pass, Riya needs to score 65% of the total marks.

Does she pass?

You must show your working.

[4 marks]
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Cards in a pack are red or blue in ratio
red:blue=3:5

What fraction of the cards are red?

Circle your answer.

[1 mark]
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ais two times b.
Circle theratio a:b

[1 mark]
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(2018 Paper 1)
Divide 405 in the ratio 4 : 11
[3 marks]

Answer: and
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(2019 Paper 1)

(a) Simplify 56 : 24
[2 marks]

Answer:
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(b) Write the ratio 5 : 4 in the form n:1
[2 marks]

Answer:
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(2017 Paper 1)
In a school show,
girls :boys=2:3
girls who sing : girls who do notsing=1:2
6 girls sing in the show.

How many students are in the show altogether?

[3 marks]
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Answer:
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Anna plays a computer game.

Each game is a win or a loss.
She wins three fifths of her first 30 games
She then wins her next 2 games.

For all games, work out the ratio  wins : losses

Give your answer in its simplest form.

[3 marks]
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Answer:
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(2017 Paper 2)
Ben and katy throw darts at a target.
Ben'’s ratio of hits to misses is 5:1
Katy’s ratio of hits to missesis 3:1
Ben says,
“5 is bigger than 3, so | must have more hits than Katy.”
Give an example to show that this might not be true.

[2 marks]
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Answer £





image64.png
5) (2018 Paper 2)
Theo starts with savings of £18
James starts with no savings.
Each week from now,
Theo will save £4.50 and James will save £4

In how many weeks will Theo and James have savings in the ratio 15 : 8?

[3 marks]
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(2019 Paper 2)

Here are two similar shapes, A and B
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length of edges in A : length of edgesinB=2:5
The perimeter of Ais 210 mm
Work out the perimeter of B.

[2 marks]

Answer: mm
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Answer:
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2019 Paper 2)
Joe and Kyle share an amount of money in the ratio 7:n
Joe gets 35% of the money.
Work out the value of n.

[2 marks]
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(2018 Paper 1)
Circle the ratio which is the same as the scale 1 cm represents 1km
[1 mark]
1:100 1:1000 1:10 000 1:100 000
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(2019 Paper 1)

This map shows an airport, E, on an island.

Scale: 1 cm represents 100km

N
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A plane flies due South from the airport.
How far does it fly until it reaches the sea?
[3 marks]
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A map has scale of 1 cm represents 2km.

(a) Write this scale as a ratio in its simplest form
[3 marks]

Answer:

(b) What is the actual length of a road measuring 5.5 cm on the map?
[1 mark]

Answer: km
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(Non-Calculator)
A map has scale of 1: 4000
On the map, the distance between two houses is 9 cm.
What is the actual distance hetwwn, the houses?

Give your answer in metres.

[3 marks]

Answer: metres
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(2018 Paper 3)

Here is a scale drawing.

Ferris wheel

The Ferris wheel has a height of 130 m

Building
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Work out the height of the building.
[3 marks]

Answer:
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(2018 Paper 2)

Here is a map of an island with cities A, B and C.

The straight lines represent roads.
Scale: 1 cm represents 200 km

N
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(2021 Paper 3)

A dolphin and a whale are drawn to scale.

~

Dolphin Whale

The actual length of the dolphin is 3 metres.
Estimate the actual length of the whale.
You must show your working.

[2 marks]




